


𝑓 𝑥 = 𝑥 − 3 − 5; vertical stretch by a factor of 2



𝑓 𝑥 = 𝑥 − 3; vertical shrink by a factor of !"



𝑓 𝑥 = 4𝑥 − 2; vertical shrink by a factor of !#



𝑓 𝑥 = !
"𝑥 + 7; vertical stretch by a factor of 2





𝑓 𝑥 = 𝑥 − 3 − 5; horizontal shrink by a factor of !"



𝑓 𝑥 = 2𝑥 − 6; horizontal stretch by a factor of 2



𝑓 𝑥 = 3𝑥 + 1; horizontal shrink by a factor of !$



Let the graph of 𝑔 be a vertical shrink by a factor of 0.25 
followed by a translation 3 units up of the graph of 
𝑓(𝑥) 	= 	𝑥. Write a rule for 𝑔.


